Révision Math SN IV

Factorisation

Mise en évidence double

3dx —6dz —ax + 2a2

3bx—0.5bz—7.5ax +1.25az

— 3ax —bay +2.25dx + §.Sdy

—12bx —15by + 8dx +10dy

20cx — 30cz +16dx — 24d2

10cx —1S5¢cz + Sdx — 1242




Trindme carré parfait

2?—62+9 9x? — 42x + 49

25x2 + 80x + 64 Gy> +12y +9

6.25a° + 6ab +1.44b? 36p* — 84pr + 49r




Différence de deux carrés

649y*— 4 3627 -1

x2— 49 31x2 —100

2.250% —1.449b’ — 2522 + 9y’




Complétion du carré

2x?> +18x — 20

3x’+12x—-63

§22+52—-30

Gy —12y+ 38




Trindbmes (somme-produit)

Yy —2y-3 15y? + 38y + 24

Sx?+22x—1S 10x°y® +13.1xyz + §.22°

G2 =102+ 4 12p? — 7pr —10r?




